R EFFOBERRBA BRI £ B 1L 2 E A

VE5} :
i 1 BERMXEHIES !
BB ETH 2857143 =20.70. 7=ATS-SEHEIFEHIENE %
EvF= 41 0.609756 m/&
KB B EIEREFEE
ih EF i | (fEf=) m| BERE 2 1| [s]ZE xERFFE
PE 0.00 — 0.0 - N EAT))
#0 10.00 10.00 6.1 0.0 1.0 18| #0: fExt{=1E
#15 12.00 2.00 73 3.1 2.8 43| #15
H#14 14.25 2.25 8.7 3.7 45 6.4|#14
=H 15.75 1.50 9.6 — 5.5 16|1=H
#13 16.75 1.00 10.2 438 6.1 8.3|#13
H#12 19.75 3.00 12.0 81 7.9 103|#12
#11 24.25 4.50 14.8 9.2 10.2 12.8| #11:5km/hEHR
#10 29.25 5.00 17.8 10.3 12.4 152|#10
#9 34.75 5.50 21.2 114 14.7 17.6|#9:
#8 40.75 6.00 248 13.6 16.9 199]|#8
#7 47.75 7.00 29.1 18.0 19.2 223 #7:10km/hEHR
#6 56.75 9.00 346 719.1 22.0 251 | #6
#5 66.25 9.50 40.4 20.2 24.6 27.9| #5:15km/hE R
H4 76.25 10.00 46.5 20.7 27.2 305|#4
#3 86.50 10.25 52.7 245 29.7 33.0[#3
#2 98.50 12.00 60.1 26.7 323 35.7| #2:20km/hE R
#1 111.50 13.00 68.0 — 35.1 38.5|#1:23km/hE 1R
BEERE=(LEF56DY) BEx3. 6[km/h] ELTEHE
hEFS550Y =t tFhLERERRE - ELFHEDE
HAREYFIEFEITDE, JRIZELT 25mT41 RERTE |
ZEHICIIRERZ LA, FET 5!
BHEFRMAGMEDO, EEBERBNE60cmUMEN=HIEA,
IRLA F L 2km/hIEEE D EZEEE.
BEXREERCLESE EHMEORIMFZENEELL




